MAT136H1F — Quiz 6

TUTO0101 — M3 (TA: I. Angelopoulos)
Fall, 2014

FAMILY NAME: ... GIVEN NAME: ..o
STUDENT ID: ..oooiiiiiiiiiiicicecciecieceeee

Mark your lecture and tutorial sections:

[ L0101 (morning) | L5101 (evening) | T0101 (M3) | T0102 (R4) | T5101 (T5) | T5201 (R5) |

You have 15 minutes to solve the problems. Each problem is worth 2 points. Good luck!

Question 1. Find a power series representation of / T T—d=.
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Question 3. Congratulations, this was the last quiz and you just won 2 free points! Draw something nice [3 B)

for your TA or just leave this place blank. Don’t forget to complete the course evaluation on Portal.
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MAT136H1F - Quiz 6

TUTO0201 — R4 (TA: B. Navarro Lameda)
Fall, 2014

FAMILY NAME: .....cccooiiiiiiiiiiniicece GIVEN NAME: ....ccooiiiiiiiiiienecic,
STUDENT ID: ..oooiiiiiiiiiiceeccceeee e

Mark your lecture and tutorial sections:
[ L0101 (morning) | L5101 (evening) | T0101 (M3) | T0102 (R4) | T5101 (T5) | T5201 (R5) |

You have 15 minutes to solve the problems. Each problem is worth 2 points. Good luck!

Question 1. Find a power series representation of / 5 3zd
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Question 2. Find the radius of convergence forzgz:;_—Q). ‘\‘e(Ms inthe sewnes .
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Question 3. Congratulations, this was the last quiz and you just won 2 free points! Draw something nice
for your TA or just leave this place blank. Don’t forget to complete the course evaluation on Portal.




MAT136H1F — Quiz 6
TUT5101 — T5 (TA: A. Stewart)

Fall, 2014

FAMILY NAME: .....cccooiiiiiniiiiieieneeieiene GIVEN NAME: .....ccoooniiiinneneeenesreseenens

STUDENT ID: .ccviiiiiiiiiiieieeieeeeeeeeeie e,

Mark your lecture and tutorial sections:

(L0101 (morning) [ L5101 (evening) | T0101 (M3) [ T0102 (R4) | T5101 (T5) | T5201 (R5) |

You have 15 minutes to solve the problems. Each problem is worth 2 points. Good luck!

Question 1. Find the interval of convergence for i %
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Question 3. Congratulations, this was the last quiz and you just won 2 free points! Draw something nice
for your TA or just leave this place blank. Don’t forget to complete the course evaluation on Portal.
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MAT136H1F — Quiz 6

TUT5201 — R5 (TA: B. Navarro Lameda)
Fall, 2014

FAMILY NAME: ........cccoconiiiiniecieenneneens GIVEN NAME: .....ccooiiiiiccecceee
STUDENT : ~:ciiivirvississiosasiasisisassnsisasesssons

Mark your lecture and tutorial sections:

[ L0101 (morning) | L5101 (evening) | T0101 (M3) | T0102 (R4) | T5101 (T5) | T5201 (R5) |

You have 15 minutes to solve the problems. Each problem is worth 2 points. Good luck!

Question 1. Find the radius of convergence for i ::gn
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Question 2. Find a power series representation of / Tz T —dz.
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Question 3. Congratulations, this was the last quiz and you just won 2 free points! Draw something nice
for your TA or just leave this place blank. Don’t forget to complete the course evaluation on Portal.
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